‘ CELETTE" SKODA FAVORIT

18
Sl

16
MZ 260

, 29

REP. | REFERENCE| PDS | NB | MZ
1 577.701 3,0 1 141
2 577.702 3,0 1 142
3 577.703 2,9 1 140
4 577.704 2,9 1 140
5 577.705 3,5 1 601
6 577.706 35 1 602
7 577.707 1,2 2
8 577.708 3,0 1 080
9 577.709 3,0 1 080
10 577.710 2,0 1 080
11 577.711 2,0 1 080
12 577.712 1,9 1 140
13 577.713 1,9 1 140
14 577.714 1,7 1 200
15 577.715 1,7 1 200
16 577.716 3,7 1 260
17 577.717 3,7 1 260
18 577.718 1,0 2
19 577.719 1,8 1 260
20 577.720 1,8 1 260
V09 0,1 2
MZ 140
M10.125x40 4
M10.125x90 4
(B=  M10.125x130 2
M12x30 2
M12x50 2
Avec ou sans mécanique
With or without mechanical elements
Con o senza parti meccaniche
Mit oder ohne aggregate
Con 6 sin mecanica desmontada
602 e 52Kg 28.04.89 433-D-3A

: —b@o . . 140—E>©° @°_ 200 :@:— 260

260

o

iy O = R S 1 S
. | | | R .
142 140 080 080 R B T . .
| bl L
Tl T Ty s R . .
S N RN Y..... L&) [PO —

LY -P@G & o 140_ b@o o@c B 200 o@o o o

olo o ° ° °© 22— 260

601
1 2 345 6 7 8 9 101112 1314 1516 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36

! Réparation
Rebuilding
Riconstruzione
3.4 Instandsetzung
Reparacién
| 5-6
7
e~ L= :
ry . i ; ghetcki”g
ontrolio
gt MZ140 ‘ | L,/S 6 Uberprugung
— = Control
FIG.1 | FIG3
cEtETTE@ © Copyright 1989 CELETTE S.A. - All rights reserved. No part of this document may be reproduced in any form, by photostat, xerography or any

VIENNE -FRANCE other means, or incorporated into any informational retrieval system, electronic or mechanical, without the permission of the copyright owner.




‘ CELETTE" SKODA FAVORIT

LTS

REP.| REFERENCE| PDS | NB | MZ
1 577.701 30 | 1 | 14
@ 2 577.702 | 30 | 1 | 142
3 577.703 29 | 1 | 140
4 577.704 29 | 1 | 140
M2 260 5 577.705 35 | 1 | 601
6 577.706 | 35 | 1 | 602
7 577707 | 12 | 2
8 577.708 30 | 1 | os0
9 577.709 30 | 1 | 080
10 577.710 20 | 1 | oso
11 577.711 20 | 1 | os0
12 577.712 19 | 1 | 140
13 577.713 19 | 1 | 140
14 577.714 17 | 1 | 200
15 577.715 17 | 1 | 200
16 577.716 37 | 1 | 260
17 577.717 37 | 1| 260
18 577.718 10 | 2
19 577.719 18 | 1 | 260
20 577.720 18 | 1 | 260
V09 01 | 2
Mlg.l%ngg 4
X SN M10.125x 4
2 (P—  M10.125x130 2
s by o M12x30 2
M12x50 2
\“ \go . ,> MZ 080 -
:lp ‘A@/ 2K Avec ou sans mécanique
o §\$—/\/ ' With or without mechanical elements
"V Con o senza parti meccaniche
MZ 141 > 9 Mit oder ohne aggregate
@ Con 6 sin mecanica desmontada
MZ 140
SKODA 577 300
52Kg | 28.04.89 | 433-D-3B
o Qo o o o 140 D@
o ool oo o © o o o '; N 260
] T s < [} (e () [+ [+ [+ [<) [+ o) o [+ <} [+ =) g 2 O@O 5] [« O Q
o ° o Co ° o o o0 o ovo o o ) ° o
@+ g @ 0. ° ° DO o . o e
° ° ol oo © ol o op o ° ° o o °
+ ||<J' | I | . . . .
080 080 L.
142 140 o e
111 140 080 080
o%o o| Do olooooo olo © olo o ©o 3 o
©+ H_I}_‘ @ Q ° ° [>© o o (-] o - o
o j ol °oloe g2l °°0 ° fel ° L 2 5 o o o o o o o o o lo of o o lo o jo o D@ ¢ o o o
o oo|leo o o __o o ol oo 260
140—{ 30
1 2 3 45 6 7 8 9101112 1314151617 18 1920 21 22 23 24 2526 27 28 29 30 31 32 33 34 35 36
MZ 2451 | 2452
2° 8-9
94
93 10,
ey Mz080
MZ 60l
L FIG.5
Ot
cELETTE@) © Copyright 1989 CELETTE S.A. - All rights reserved. No part of this document may be reproduced in any form, by photostat, xerography or any

VIENNE. FRANGE other means, or incorporated into any informational retrieval system, electronic or mechanical, without the permission of the copyright owner.






